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A. Amazon CloudFront and Amazon S3

B. AWS Lambda and Amazon DynamoDB

C. Application Load Balancer with Amazon EC2 Auto Scaling
D. Amazon Route 53 with internal Application Load Balancers

Correct Answer: A

QUESTION 42

The application's traffic is often low. but it occasionally grows significantly. During these sudden
increases in traffic, DynamoDB returns throttling errors. The result is that error pages are
displayed to end users. What should a solutions architect do to reduce these errors?

A. Change the DynamoDB table to use on-demand capacity mode.

B. Create a DynamoDB read replica to scale the read traffic horizontally.

C. Purchase DynamoDB reserved capacity of 1,000 RCUs and 500 WCUs.

D. Configure the application to use strongly consistent reads for DynamoDB queries.

Correct Answer: A

QUESTION 43

A leasing company generates and emails PDF statements every month for all its customers.
Each statement is about 400 KB in size Customers can download their statements from the
website for up to 30 days from when the statements were generated. At the end of their 3-year
lease, the customers are emailed a ZIP file that contains all the statements. What is the MOST
cost-effective storage solution for this situation?

A. Store the statements using the Amazon S3 Standard storage class. Create a lifecycle policy to
move the statements to Amazon S3 Glacier storage after 1 day.

B. Store the statements using the Amazon S3 Glacier storage class. Create a lifecycle policy to
move the statements to Amazon S3 Glacier Deep Archive storage after 30 days.

C. Store the statements using the Amazon S3 Standard storage class. Create a lifecycle policy to
move the statements to Amazon S3 One Zone-Infrequent Access (S3 One Zone-lA) storage after
30 days.

D. Store the statements using the Amazon S3 Standard-Infrequent. Access (S3 Standard-IA) storage
class. Create a lifecycle policy to move the statements to Amazon S3 Glacier storage after 30
days.

Correct Answer: D

QUESTION 44

A company is planning to migrate a TCP-based application into the company's VPC The
application is publicly accessible on a nonstandard TCP port through a hardware appliance in the
company's data centre. This public endpoint can process up to 3 million requests per second with
low latency. The company requires the same level of performance for the new public endpoint in
AWS. What should a solutions architect recommend to meet this requirement?

A. Deploy a Network Load Balancer (NLB). Configure the NLB to be publicly accessible over the
TCP port that the application requires.

B. Deploy an Application Load Balancer (ALB). Configure the ALB to be publicly accessible over the
TCP port that the application requires

C. Deploy an Amazon CloudFront distribution that listens on the TCP port that the application
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requires. Use an Application Load Balancer as the origin.
D. Deploy an Amazon API Gateway API that is configured with the TCP port that the application
requires. Configure AWS Lambda functions with provisioned concurrency to process the requests.

Correct Answer: A

QUESTION 45

A company has two applications: a sender application that sends messages with payloads to be
processed and a processing application intended to receive the messages with payloads. The
company wants to implement an AWS service to handle messages between the two applications.
The sender application can send about 1,000 messages each hour The messages may take up
to 2 days to be processed If the messages fail to process, they must be retained so that they do
not impact the processing of any remaining messages. Which solution meets these requirements
and is the MOST operationally efficient?

A. Setup an Amazon EC2 instance running a Redis database. Configure both applications to use the
instance. Store process, and delete the messages, respectively.

B. Use an Amazon Kinesis data stream to receive the messages from the sender application.
Integrate the processing application with the Kinesis Client Library (KCL).

C. Integrate the sender and processor applications with an Amazon Simple Queue Service (Amazon
SQS) queue. Configure a dead-letter queue to collect the messages that failed to process.

D. Subscribe the processing application to an Amazon Simple Notification Service (Amazon SNS)
topic to receive notifications to process, integrate the sender application to write to the SNS topic.

Correct Answer: C

QUESTION 46

A company's near-real-time streaming application is running on AWS. As the data is ingested, a
job runs on the data and takes 30 minutes to complete. The workload frequently experiences high
latency due to large amounts of incoming data A solutions architect needs to design a scalable
and serverless solution to enhance performance. Which combination of steps should the
solutions architect take? (Select TWO.)

Use Amazon Kinesis Data Firehose to ingest the data.

Use AWS Lambda with AWS Step Functions to process the data.

Use AWS Database Migration Service (AWS DMS) to ingest the data.

Use Amazon EC2 instances in an Auto Scaling group to process the data.

Use AWS Fargate with Amazon Elastic Container Service (Amazon ECS) to process the data.

moowy

Correct Answer: AB

QUESTION 47

A company needs to provide its employees with secure access to confidential and sensitive files.
The company wants to ensure that the tiles can be accessed only by authorized users. The files
must be downloaded securely to the employees' devices. The files are stored in an on-premises
Windows file server. However, due to an increase in remote usage, the file server is running out
of capacity. Which solution will meet these requirements?

A. Migrate the file server to an Amazon EC2 instance in a public subnet. Configure the security group
to limit inbound traffic to the employees' IP addresses.

B. Migrate the files to an Amazon FSx for Windows File Server file system. Integrate the Amazon
FSx file system with the on-premises Active Directory. Configure AWS Client VPN.
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C. Migrate the tiles to Amazon S3, and create a private VPC endpoint. Create a signed URL to allow
download.

D. Migrate the tiles to Amazon S3, and create a public VPC endpoint. Allow employees to sign on
with AWS Single Sign-On.

Correct Answer: D

QUESTION 48

A social media company is building a feature tor its website. The feature will give users the ability
to upload photos. The company expects significant increases in demand during large events and
must ensure that the website can handle the upload traffic from users. Which solution meets
these requirements with the MOST scalability?

A. Upload files from the user's browser to the application servers. Transfer the files to an Amazon S3
bucket.

B. Provision an AWS Storage Gateway file gateway. Upload files directly from the user's browser to
the file gateway.

C. Generate Amazon S3 presigned URLs in the application. Upload files directly from the user's
browser into an S3 bucket.

D. Provision an Amazon Elastic File System (Amazon EFS) file system. Upload files directly from the
user's browser to the file system.

Correct Answer: C

QUESTION 49

A company runs a web application that is backed by Amazon RDS. A new database administrator
caused data loss by accidentally editing information in a database table. To help recover from this
type of incident, the company wants the ability to restore the database to its state from 5 minutes
before any change within the last 30 days. Which feature should the solutions architect include in
the design to meet this requirement?

A. Read replicas

B. Manual snapshots

C. Automated backups
D. Multi-AZ deployments
Correct Answer: C

QUESTION 50

A bicycle sharing company is developing a multi-tier architecture to track the location of its
bicycles during peak operating hours. The company wants to use these data points in its existing
analytics platform. A solutions architect must determine the most viable multi-tier option to
support this architecture. The data points must be accessible from the REST API. Which action
meets these requirements for storing and retrieving location data?

A. Use Amazon Athena with Amazon S3

B. Use Amazon API Gateway with AWS Lambda

C. Use Amazon QuickSight with Amazon Redshift.

D. Use Amazon API Gateway with Amazon Kinesis Data Analytics

Correct Answer: D
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QUESTION 51

A company has an application that calls AWS Lambda functions. A recent code review found
database credentials stored in the source code. The database credentials needs to be removed
from the Lambda source code. The credentials must then be securely stored and rotated on a on-
going basis to meet security policy requirements. What should a solutions architect recommend
meet these requirements?

A. Store the password in AWS CloudHSM. Associate the Lambda function with a role that can review
the password from CloudHSM given key ID.

B. Store the password in AWS Secrets Manager. Associate the Lambda function with a role that can
retrieve the password from secrets Manager given its secret ID.

C. Move the database password to an environment variable associate the Lambda function. Retrieve
the password from the environment variable upon execution.

D. Store the password in AWS Key Management Service (AWS KMS). Associate the Lambda
function with a role that can retrieve the password from AWS KMS given its key ID.

Correct Answer: B

QUESTION 52

A website runs a web application that receives a burst of traffic each day at noon. The users
upload new pictures and context daily, but have complaining of timeout. The architect uses
Amazon EC2 Auto Scaling groups, and the custom application consistently takes 1 minutes to
initiate upon boot up before responding to user requests. How should a solutions architect
redesign the architect to better respond to changing traffic?

A. Configure a Network Load Balancer with a slow start configuration.

B. Configure AWS ElastiCache for Redis to offload direct requests to the servers.
C. Configure an Auto Scaling step scaling policy with an instance warmup condition.
D. Configure Amazon CloudFront to use an Application Load Balancer as the origin.

Correct Answer: C

Explanation:
https://docs.aws.amazon.com/autoscaling/ec2/userguide/as-scaling-simple-step.html#as-step-
scaling-warmup

"If you are creating a step policy, you can specify the number of seconds that it takes for a newly
launched instance to warm up. Until its specified warm-up time has expired, an instance is not
counted toward the aggregated metrics of the Auto Scaling group. Using the example in the Step
Adjustments section, suppose that the metric gets to 60, and then it gets to 62 while the new
instance is still warming up. The current capacity is still 10 instances, so 1 instance is added (10
percent of 10 instances). However, the desired capacity of the group is already 11 instances, so
the scaling policy does not increase the desired capacity further. If the metric gets to 70 while the
new instance is still warming up, we should add 3 instances (30 percent of 10 instances).
However, the desired capacity of the group is already 11, so we add only 2 instances, for a new
desired capacity of 13 instances"

QUESTION 53
A company has a custom application running on an Amazon EC2 instance that:

* Reads a large amount of data from Amazon S3
* Performs a multi-stage analysis.
= Writes the results to Amazon DynamoDB

SAA-C02 Exam Dumps SAA-C02 PDF Dumps SAA-C02 VCE Dumps SAA-C02 Q&As
https://www.ensurepass.com/SAA-C02.html



http://www.ensurepass.com/SAA-C02.html
http://www.ensurepass.com/SAA-C02.html
http://www.ensurepass.com/SAA-C02.html

Download Full Version SAA-C02 Exam Dumps(Updated in Feb/2023)

The application writes a significant number of large, temporary files during the multi-stage
analysis. The process performance depends on the temporary storage performance. What would
be the fastest storage option for holding the temporary files?

A. Multiple Amazon S3 buckets with Transfer Acceleration for storage.

B. Multiple Amazon EBS drives with Provisioned IOPS and EBS optimization.

C. Multiple Amazon EFS volumes using the Network File System version 4 1 (NFSv4 1) protocol.
D. Multiple instance store volumes with software RAID 0.

Correct Answer: A

QUESTION 54

A company runs an application on a group of Amazon Linux EC2 instances. For compliance
reasons, the company must retain all application log files for 7 years. The log files will be
analyzed by a reporting tool that must be able to access all the files concurrently. Which storage
solution meets these requirements MOST cost-effectively?

A. Amazon Elastic Block Store (Amazon EBS)
B. Amazon Elastic File System (Amazon EFS)
C. Amazon EC2 instance store

D. Amazon S3

Correct Answer: D

QUESTION 55

A company must migrate 20 TB of data from a data centre to the AWS Cloud within 30 days. The
company's network bandwidth is limited to 15 Mbps and cannot exceed 70% utilization. What
should a solutions architect do to meet these requirements?

A. Use AWS Snowball.

B. Use AWS DataSync

C. Use a secure VPN connection.

D. Use Amazon S3 Transfer Acceleration

Correct Answer: A

QUESTION 56

A company uses a payment processing system that requires messages for a particular payment
ID to be received in the same order that they were sent Otherwise, the payments might be
processed incorrectly. Which actions should a solutions architect take to meet this requirement?
(Select TWO.)

A. Write the messages to an Amazon DynamoDB table with the payment ID as the partition key.

B. Write the messages to an Amazon Kinesis data stream with the payment ID as the partition key.

C. Write the messages to an Amazon ElastiCache for Memcached cluster with the payment ID as the

key.

D. Write the messages to an Amazon Simple Queue Service (Amazon SQS) queue. Set the
message attribute to use the payment ID.

E. Write the messages to an Amazon Simple Queue Service (Amazon SQS) FIFO queue. Set the
message group to use the payment ID.

Correct Answer: AE
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